pg-TEQ/m’

H17.5.19 | H17.7.28 |H17.10.20| H18.1.19 o x)
5.26 8.4 10.27 1.26
0.10 0.096 0.098 0.066 0.090 o
0.054 0.049 0.13 0.065 0.075 o 0
0.053 0.053 0.10 0.048 | 0.064 o )
0.038 0.039 0.089 0.044 0.053 o
pg-TEQ/L
( o =)
H17.10.20 1.1 > 1
0.16pg-TEQ/L
pg-TEQ/g
( o =)
H17.10.20 15 o 150
pg-TEQ/L
( o =)
H17.5.24 0.084 o 1
pg-TEQ/g
( o =)
H17.12.13 0.083 o
H17.12.13 6.0 o
H17.12.13 61 o 1,000
H17.12.13 2.1 o
H17.12.13 0.00033 o
pg-TEQ/g
LN
2.4 0.66 3.0
4.2 1.3 5.5
( 1D 2.2 0.67 ( 2) 2.9
( D 2.9 0.87 ( 2) 3.8




